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Booklet A (30 x 2 marks)

For each.question from 1 to 30, four oprﬁohs are given. One of them is the correct answer.
Make your choice (1; 2, 3 or 4). Shade meconect_ i on the Optical Answer Sheet (OAS) .
provided. : ‘ g

1. The table below shows some specimens of plant and animal colleated by a
group of students froma community

Based on the table above, which community do the specimens likely belong to?

(1) garden
(2) swamp
(3) rainforest

{(4) grassland



No. of fruit flies

» lime

The number of fruit flies were counted and recorded over a period of tims in the -
graph above.

 Which of the following shows what might have happensd at D'?

. (1) More fies fisw Into the jar.

2) A huige lizard entored thejar.

(3) All the fiies flew away from the jar.

(4) Thers wers no more bananas in the far.



3. Somedﬂlsaedswew laMed!nfourskni!arpotsA.B Cand D. The

A garden yes
B 20 ' gadon no
C 10 clayey yoes
D 20 dayey yes -

Which two pots should be used In order to find out how the types of soil affect

the growth of chilll plant?
()Aand B
(2)Band C
(3Aand G
(4)Band D

4. Study the food weh below.

desr

plant ,/M’UBMPW

How many food chains are thére In the abave food web? |

(3
@ 4
) 5
@ s




Which of the statoments is true of the food web shown above?

(1) T Is the predator of B and U,

{2) R is both a pray and z predator.

{3) Ouly 8, U and W are ankmal eaters.

(é) Q, T and V are plan and animal eaters.



6. Study the food chaln as shown below carsfully.
Which of the following graphs represents the abave food chain?

(13 Number of
organisms

A BGD = |Ypeofomenisms

(2) Number of
orgenisms

5 6B A Type of organlems

{3) Number of A
organfsms

ABC Dﬁk Typo of organisms

(4) Number of
organisms

l|l ' Type of organisms

A BCD



7. Below shows a food web in a cornmunity.

F G

Which of the following has correctly described the effect on other popuiations
of organisms when one population of organism increases or decreases?

{1)When population C Increases, poptilation D will decrease,

[Z}Wheb popufation F decreasaes, pdpulaﬂona C and G will decrease.
3Ywhen population D Increases, populations C, F and G will increass.
{(4)When mpulathn B decraases, populafions A, C, E and F will Incroass.

8. The set-up bolow was used to measure the amount of oxygen used by a piece
of rofting meat The movement of the drop of red ink was measured after 5
hours. The drop of red ink moved lowards the rotting meat.

guoslance X rotting meat
drop of red Ink

Substance X absorbed a cortaln gas, Vhat was inis gas?
(1) oxygen

(é) nitrogen

{3) water vapour

{4} carbon dioxide



2.

The table below shows the fun

cllons of 4 different adaptations of an aquatic

@ lungs fippors ewim bladder |  layer of fats
@) lunge swim bladder flippers skream. ol ‘lined
“4) streamlined

glits body layer of fats flippers




10. Bolow shiows a diagrai of a plant. Part X of the plant ia thick, green and waxy.

Which of the foflowing shows how Part X helps the plant to survive In a desert?

A: It helps to make food.

B: it helps to store water. _

C: 1t hislps to reduce water Ioas :

D: It helps to anchor tha plant fmiy o the soll.

{1}A and B only
{2) C and D only
". (3)A.Band Conly
~ _@A.B,CandD



12.

T

N

betar'-Béﬁi‘

¥R,
S

s | " toglideeasily

(2)

Chameleon body changing colours

| tohids from it prey

@)

Houss fizard Tong stoky tongue _

|7 Totrap s prey as food

“

Pitcher Plant | leaf moditied as picher

to camouf from prey

The diagram below shows Organism M which can be found along the
seashore.

Which of the following sea stars is most easily spotted by its predator if the sea
star stays close to Organism M?




13. The diagram below ehows the lifs cycle of a plant.

Which of the following bast represents the processes ot B?

(1} dispersal, germination
{2} dispersal, polination
{3) pollination, fertiksation
{4) gsmaination, pollinafion

e



14, The diagram below shows how blood flows in certain parts of the body a few
hours after a meal.

| lungs

heart

B - small intestine | A

Which of the following correctly shows the comparison of the oxygen and
digested food in blood A and B? ‘

(1) more oxygen
| more digested food less digested food
{2) less oxygen more oxygen
less digested food more digested food
(3) more oxygen less oxygen
more digested food less digestfed food
“) ~ more oxygen less oxygen
less digested food more digested food

11



" 15." The systems shown in the diagram below belong to that of an animal.

Digestive system

Circulatory system

These systems are compared to the systems of a plant, what would the arrows
A represent?

{1) Transporting food to the other parts of the plant.
{2)Taking In oxygen and giving out carbon dioxide.
(3) Taking in carbon dioxide and giving out oxygen.
(4) Transporting water and mineral salts to the other parts of the plant.

18. The fb!lowing table shows the comparison between sexual reproduction in
humans and plants.

Male reproductive cell
Female reproductive cell
After fertilisation

. Which one of the following best matches the missing information in the table?

[ | eg seeds are formed
2) egg flowers are formed
(3) ovary fruits are formed -
@ egg 4 seeds are formed




17. Study the flow chatt below carefully.

glass, iron, aluminium, cork -
¥ '
Question A Mo cork
Yes
glass, kon, aluminium
Question B No glass
Yas
¥
sluminium, fron
What are the two questions, A and B?
~ Question A Question B
(1) Will it float on water? Does it conduct electricity?
& Will it sinkinwator? Does it conduct elechricity?
(3) Willit fioat onwater? Is & magnetic?
@ Wil & sink in water? Is &t fragHe?




18.

Eric wanted to fiid out how the armangement of bulb(s) in a circult would affect
the brighiriess of the bulbs. - ,

DS -
Setup C SetupD -

. Which of the above set-ups should he choose to conduct his expetiment?

(1) Sef- upsAand B
(@) SetupsAand D
(3) SetupsBand G
(4) Setups BandD . -



19.  When Xizomin was standing in the room, she could not see the ball.

cardboard - -
box

|

Which of the following was the roason for Xiaomin not being able to see the
bsli?

(1) The box did not aflow light to pass through.
(2) The ball did not aflow light to pass through.
(3) The bali was transparent and did not reflact light.

{4} The light which was reflected by the ball could not reach Xiaomin's eyes.



20. Ravi ‘was given a container containing three powders, X, Y and Z, mixed
together. Thege powdets do not dmolve In water. The propeﬂi&c of the three

powders are given in the table below.
Property A Propetty B Property C
Isitamagnetic | Doesitsinkin .éiﬂ'&ﬁé’tﬁf
| | maﬁetial? _watel? | ' - heat?
" Powder X Yes No Yes
Powder Y No Yes Yes
Powder Z No No No

Which property / properties should Ravi make use of fo separate the three

powders quickly?
(1) Aonly |
(2) B only

{3} AandBonly
{4) B and C only

16 -




21.

Simon wanted to move a box up a ramp. He pushed the box but the box did not
move etall.

ramp

box -

Which of the following statements is comrect for explaining why it was difficult ta
push the box up the remp? '

{1} There was no force acling on the box.

(2) Frictiohal force was gcting upwards uiong the ramp.

(3) Aforce smaller than the frictional force was applied.

{4) Only gravity prevented the bax from moving up the ramp.



sed at poirit A and it rolled to point C before rolling back towards

Which of the following shows comrectly the changes in the potential energy and
kinetic snergy of the ball as it rolls from point A to point C?

Change In Kinafic energy from | Change In potential energy
AtoB fromBtoC
(n decrease decrease
(2} decroase’ . Increase
(3) increase increase
{4) jacreass dacreage




Which of the following line graph represonts the relationship beiween the
extenslon of the spring andﬁemnnberoﬁdenﬂea&obiomwwemaddadm
the spring? »

Extension m‘ spting / em
4 )

» Numbar of oblects



_, David wanted to conduct an experiment to find out if carbon dlaxide is needed
for photosynthesis to taka place.

. plant

- plant

g‘u_bstanoa that .
femoves
carbon dloxide

5 plant

substance that
removes

oxygen

\ﬂm&ch'two éet—ups should he use for hie experiment to ensurse a fair test?
() SetupsAandB

@ SetupsAandC

() SetupsBandC

(4) Set-upsBand D



W

)

@




28.

lntheset-upbelow,he%rmagnetis&ttadedbyﬁnelechomgnet%en

% of 1 voit 8ach were added 1o the circuit. The extension of the spring is

measured when the number of bstteries attached o the circult Increases by one
each time till a tota! of 4 batteries are used.

ALl A o

electromagnet .
3 :
Length gfspﬂnglcm
", - c
- -
’o,‘\ J,
""o.‘.. ,la' D
. -
T
s—-...._..;,.‘.....__. ,z‘; ..... B
. - '\.\
#’l ‘.'\,' ’
3l ..
T A
» Total voltage of
Lt o : batteries /V -
thhgraph A.B Cord, showsﬂ'sepm'blelengmofﬂraapdngasbaﬁsm
were added to the clreuit?
(1) A
(2) B
) C
@D

22



27. Anmﬁawantgdtoﬁndmﬂhwﬁ:emdabaﬁmddaﬁedﬂwdepmson
nade m the sar vdaenﬂwhﬂimsdmppedﬁom a fixed height.

The resulis of the experiment aro shown in tha table below.

Mass of ball {g) Depth of depression made In
- _ ' the sand (mm}
10 N
20 ]
30 15
40 21

Based on the results, which of the following siatements is corect?

(1) The smaller the mass of the ball, the deoper the depression made by

the ball

{2) The kinetic energy of the ball increases as the mass of the ball

3) ﬁegmvhﬂanlm&nwewgydﬂ\abaﬂdmasﬂ\ahmgm :

from which the ball is dropped increases. .

@ Theldnedcmyofﬁebaﬂhwmﬁedmheamyand

sound energy for the ball 1o move.




28. - Mary designed and constructed two foys using two dentical springs and two
' »:balhmdeufdﬁfauunmﬂabasshmnbdw Thetsvoba!lsamofttmsame
- slze. .

Basad on the diagram above, which one of the following statements is not
correct?

{1} The ball in Toy A is heavier than the ball in Toy B.

(2) The spring In Toy A has more elastic potential energy than the spring In Toy
B. '

{3) The slasfic potential energy in Toy A will convert to more kinetic energy
than that in Toy B.

{4} The spring in Toy A has mora gmvil:aﬂonal potential energy than the spring
in Toy B.



_,uslng a wooden block and @ bafloon. Shepumpedin 800 cm® of

?'.‘Y‘

balloon

block ——+

¥ 3

d

Which of the following correctly shows what will happen fo distance, d, when the
changes are made to the experiment?

Distance, d, moved by
Change made the balloon
Added lubricant to the
(1} surface - Decrease
2) Used a rougher surface Increass
Added lubricant to the
(3)_ face Increase
4) | Usad asmoother surface Decraase .




30.  The table below shows three situations involving forcss.

A 8 ¢
 Cyetigdowna | Keoping e door of | magneton a woodon
slope arefiigerafor closed |  pole above the
| ground

" Which of the following corractty shows the foroes involved in sach sltuation?

Frictional Forco | Magnetio Force |  Srofiatonal
0 Aonly B only Aand C only
@ | AendBony B and C only Aonly
3) B only Band Coaly Aonly
@ Aand B only B only C only
End of Booklet A
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For each question from 1 to 15, four options are given. One of them is the correct

1. Make your choice (1, 2, 3 or 4). Shade the correct oval on the Optical Answer
f (OAS)

[30 marks]

1. An experiment was conducted to find out whether moisture is needed for fdngi to
grow. The following set-up was prepared.

kept at 32 °C

bread

liquid to remove
water vapour

Which one of the followmg set-ups should be used as a control for the
expenment?

nm . @
~ kept at 32 °C :

A bread bread

liquid to remove
oxygen

Q) . (@) : S
R -_keptat4°C -7 'keptat4°C

liquid to remove
carbon dioxide

(Go onto the next page)



Study the flow chart below.

I Doesit . | | Deesithave4
lay eggs? [ves | Stagesinits life
cycle?

lno"
)

Yes

Does it lay eggs
in water? Y.
es

T
)

Three pupils made the following"§t‘a’feméhts based on the flow chart above.

" Aseng : Animals P, Q and R do not give birth to their young
live.
Barney : Animal P has 4 stages in its life cycle but Animal Q
A L does not.

Cindy - : Animal R lays its eggs in the water but Animal Q does
nof:lay its eggs in the water. .

Whose statements are correct?
(1)  Asengand.Bamey
(2) Bamey and Cindy

(3) Cindy and Aseng

| Asong.Bamey and Cindy

et

(Go on to the next page)



3. The diagram below shows the small intestine of the digestive system.

e T

smallintestine

The diagram below shows numerous tiny structures, R, found in the small
intestine.

Structure R

small intestine

Which one of the following statements explains how Structure R helps the body
to absorb digested food faster?

Structure R

) decreases the surface area of the small intestine so that less water is
absorbed

(2) increases the surface area of the small intestine allowmg more drgested
AR ,-food to be absorbed .

(3)’ increases the surfaoe area of the smaﬂ mtestme aliowmg more undrgested o ,
food to be absorbed :

(4) decreases the surface area of the sma!l mtestme so that less drgested
foodis absorbed '

(Go on to the next page)



4. Sarah placed a leaf into a beaker of hot water as shown in Diagram 1 below.
beaker ~bubbles on
of water upper surface

. of leaf
— leaf
npod stand
with bumer _ bubbles on
lower surface
of leaf

Diagram 1

She observed that small bubbles of air appeared almost immediately and started

to escape from both the upper and lower surfaces of the leaf. There were also

more air bubbles forming on the lower surface of the leaf compared to the upper
" surface above as shown in Diagram 2

Which one of the following statements below best -explains her observation in
Diagram 2?7

(1

@

3)

There were more’ stomata on the upper surface of the leaf to take'in more
dissolved oxygen.

There were more stomata on the lower surface of the leaf which allow
more gas to escape.

There was more chiorophyll on the upper surface of the leaf te trap light
energy.

' There were more stomata on the lower surface of the leaf to absorb water.

(Go on to the next page)



A group of students was given four different types of cells, A, B, C and D. They
-observed the cells under a microscope and recorded their observations in the

table shown below.

o Type of Celi
Parts A B C. D
Cell wall Absent Absent Present Present
Cell membrane Present Present Present Present
Cytopl' sm Present Present | Present
Nucletis Absent € Present
Chlorep!ast Absent Present

The students then carried out an experiment on the four cells to find out what
happens when each of the cells was soaked in a beaker of water for 5 hours.

The diagram below shows the results of the expérinient 5 hours later.

Resuit X

ResultY

cell stiffens but
generally keeps its
shape

cell placed in
water

cell placed in
water

cell swells and
burst

Two of the cells reacted the same way as Resuit X while the other two cells

reacted the same way as Result Y.

Whlch one of the following options shows how the cells reacted when the cells
s were soaked in the beaker of water tor 5 hours‘?

Result

T Resultx | |
ta A B c D
@ A C B D
&) c D A B
(4) D B A C

{Go on to the next page)



The diagram‘ below shows two plants, X and Y, from the same species.

transférred within the same ﬂower.

direction in
whichipollen ----»
is transferred

Samy. . | Arrow B represents self-péll'inaﬁén where pollen grains are

transferred to another flower on the same plant.

Tim

of which pollen grains are

transferred to the ﬂower of another plant of the same spec:es

: Who made the: oorrect statementls?

(1)  Ranice onfy

"@  Samyand Tim only
@) Timand Ranice only
(4) Ranice, Samy and Tim ..

{Go on to the next-page)




v The diagram below shows a developing baby in the mother’'s womb.

How does Part W help the developing baby?
A It carries nutrients to the developing baby.

B: It carries oxygen-rich blood to the developing baby.

C: it carries the developing baby’s wastes to his mother to be removed.
() . Aonly
(2) B only

(3) AandBonly

(4) ABandC

(Go on to the next page)



me amount of water into two tdent:ca! containers, X and Y.

window for three da

plant. - @

Comtainer X : Contamer v

"Which one of the following observations is corr_ect?

(1)  The water level in Container X increased because the plant gave

out water

2) The water in Confainer X décreased because the roots of the plant
absorbed water.

(3) The water level in Container Y decreased more because more water
evaporated.

(4) The water level in Container Y increased because water vapour
condensed into water droplets.

(Go on to the next page)
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9. Study the set-ups as shown below.

delivery tube delivery

»»»»»»»»»»»» oxygen E—ERie g s OXygen

pumped in T topge e | | S pumped in
limewater —  live
mouse

- Set-:hiﬂ 4 Set-u";.JZ o

After some time, the limewater in Set:up 2 turned chalky but the limewaterin Set-
up 1 remained clear.

Which one of the following options shows the process that has taken place in
Set-up 2 and the purpose of having Set-up 1?

- Name of process Purpose of having Set-up 1
occurring in Set-up 2 i

(1) Respiration - To show that oxygen was taken in by the

mouse.
(2) Decomposition To show that there was not enough carbon

dioxide 'i>n the air.,

(3) Digestion To show that limewater remained clear when

it reacted with oxygen.
2(2‘») Respiration | To show that carbon dioxide was given out by
,’]' | . ) - . ~~ s A ‘. .

o the miouse. D

L 1 _ S U

{Go on to the next page)
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10.

! cycled continugusly for half an hour on his racing bicycle. Then he took a

,mute rest. Which one of the following graphs shows his pulse rate during
, ,,mmg,, ,'essuan? ,

1 )
() Pulse rate ) Pulse rate
A y N\
0 —»-Time Y : + Time
(min) _ (min)
3 | | 4
©) Pulse rate @ Pulse rate
A o A
0 | + Time 0 > Time
(min) (min)

(Go on to the next page)
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11, Study the diagram shown below.
trapped:by ' absorbed by
the legves , o the roots
A € leaves photosynthesis C
taken in produced _produced
5 L oxygen } food ]
produced A
respiration produced >" energy l

Which one of the following options best represent letters, A, B and C correctly?

A B C
1 " water chiorophyll | carbon dioxide
@ | sunight | carbondioxide | water
@) surili‘Qﬁht water carbon dioxide
4) chlorophyli carbon dioxide water

(Go on to the next page)



13

below shows some information about the food relationships among
¢ },amsms in a community.

Organism

Information

L

{ a plant-eater

. feeds on Land P

0Oz =2

gets rts energy directly from the sun

Based on the information above, which one of the following shows the correct

food web, involving organisms A, B, C, D and E in the community?

N

Le——M<+—— N

@

NN

{Go on to the next page)




14

flow of river

clear water
Location 3

Location 4

The table below shows the population of organisms X and Y present in samples
taken at 4 different locations, 1, 2, 3 and 4 of the river. ‘

Ldg:ation ' Poputation of X.| Population of Y
1 16 | 83
2 BT 82
3 32 39
4 18 1 43

{Go on to the next page)
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pact on the orgamsms’7

2

1
) flow of river ) flow of river
Location 1 ) Location 1
Location 2—— Location 2
. clear clear
Location 3 - water Location 3 water
Location 4 - Location 4
| ; 4
-(3) flow of river “) flow of river
Location 17— X*" ' Location 1
Location 2 iocation 2
Location 3

Location 4

Location 3

Location 4

Key

{Go on to the next page)
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14. Ahmad set up an expeniment to find out which type of soil was suitable for
e ifferent plants, A, B and C. The profile of the plants is as shown in the

Plan,tﬁ-;B Plant C
swamp Desert

Habitat

He lined 3 funnels withfilter.pap:
Z, into each funnel:-
the volume of water col

>r-and:poured the same amount of soil, X, Y and
of water into each funnel and recorded
ch-measuring cylinder after 5 minutes.

Sail X Sail Y Soil Z
funnel with— gl o
filter-paper W;Q”

< ~—

measuring cylinder

Ahmad then recorded the resuilts of his experiment as shown in the ta',t;le be!_ow.'

Soil X [ Soil Y | SoilZ

Volume of water collected 47 ml | 8 ml 26 ml

Which ohe, of the following correctly matches the plants to their suitable soil?

Sail X Soil Y Soil Z

ED) Plant C Ptant B PlantA

@ | PantA | PamB | PaniC
@ a8 | PamC | PRwA
@ | Pantc | PantA | PantB

(Go on to the next page)



15.

The tabie below shows the physical conditiéns in the ocean at different depths.

~ OceanZone | Depth/m ntensity of light

Sunfight Zone | 0-200 | Bright
Twilight Zone | 200 - 1000 Dim

Dark Zone 1000 - 4000 Dark

Based on the information given in the data above, Kim concluded that the
~ minimum depth at which the angler fish would be expected to live in is 1000m.

Which one of the following statenﬁents best explains how the stalk helps the
angler fish to survive in its environment?

The light emitted from the stalk on the angler fish’s head

(1

scares its predators away

)

P
L |

Fl

helps it to swim quickly in the water

i (3)

' prowdes it with hght energy to .ake :ts ow'x food

)

attracts its prey towards itso that it can catch its prey eas1y

End of Booklet A1
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Booklet B (40 matks)

Forcam‘&uns31 16 44, write your answers cleaily in the spaces provided.

31 An expenmentm canied ouun Gnid putw o{m pond water or fap

water, Is more suitablé for the tadpolos (o grow healiily. Some tadpoles were
caught and they wera placed into 2 Kenfical tanks as shown below.

fadpoles

Lt
l

Vi .l. L1
[

I

|

{a) is the above experiment a fair test? Give 2 reasons for your answer.  [2]

(b) Write down one ltem that can be added into the tank of tap water to help the
tadpoles survive? 1]

Score

7



hooks

Frut A

{a} identily the method of dispersal for the fiults shown above. [i}
I. Frult A
li. Frult B:

{b) Explain how the physical characteristics of Frut A and Fruit B holp them to
be dispersed by the methods mentioned in (a). 121

Score




33, The table below shows how some aninals from a single. trea community depend
ot the dilterent paris of five tre for focd. The () represents the parts of the tres
ﬁ!eorganissmdepeadonforfood.

~pnoe et flower mit | bak
Buterty | T |
Bat 4”

Mealy bug 4

| Squimrel 2 ]

Termite ' ¥

(a) If the pollination of the flowar does nat take place, which animal(s) would n;)t
Yo able to obtain any food from the tree? 1

(b}Explain the reazon for your answer in (a). {11




34. Thé food web below shows a foeding relafionship bolween some organisms
livihg in a community.

/ M

o of N L L

{a)Based only on the food web above, fill in the blanks in the tabls below with
the letters, J, K, L, M, N, O and P, representing the various organisms.  [2]

I | Food producer
H -Plant eater
. Animal eater
v: | Plant and animal eater

Organisms X has the following characteristics:
» ' Organism X is a plant and animat eater.
« When the population of Organism X increases, the population of P

docreases.
_ = When the population of Organism X i mcfeases, the population of J
’ and 0 docreases. )
.{b}include Organiem X in the food web above. 1]

Score

30



35. The male fiddler crab digs burows Jo make a-homs using its large pinter. The
' mwmmm ‘has a pair of pincers of squal size-as shown below.
: mmmmmwmmmwaﬁ

‘ Male fiddler crab

{(a)What could be the reason of the male fiddler crab waving its large and
brightly-coloused pincer? 1]

(b)How does the size.of the pincer affect the survival of the fiddier crabs?  [1]

{c) Explain why the fiddier crab has eyes that protrude from the front part of its
shell, - i1l

Score




36. Llly ate a fish burger for lunch. The graph below shows the amount of food from
the burger that was digested at different parts of her digestive system after her
lunch. 4 . -

Amount

of
digestad
food

A\

A B C
Part of the digastive system
Use the graph above o answer the followmng question.

(a)Match the following parts of the digestive systom to the lettars, A, 8 or C.

Wiritq the letter corvespondinig to each patt in the boxes provided. {11
C Pad | S
Stomdch
Small intastine |

(b) Bload vessels carry blocd fo and from parts of the digestive system. Explain
why thare are blood vessels found on the walls of the small intestine. {11

(c} Why do we have {arge amount of blood vesseis on the intestine wali?  [1]

Score




37. Jess set up an experiment in a dark room as shown balow.

]I . sealed end of gyrings
o gas
distance
from the _ syringe
lamp N o
¢ \ .| . glass jar
-
— water plant

She placed the lit lamp 30 cm away from water plant. it was observed that after
some time, tubbles were formed in the syringe. She countad the number of

bubbles formed anhd repeated the exparimernt, placing the water plant at various
distances from the lamp. The resulis are shown In the table ahove.

" Distance from the | Average number of
fem) minuts
30 -1
20 25
10 43

(3) What Is the refationship between Yhe number of bubbles formed and the
distance between the'water plant and the lamp?

Score




mefomﬂwhme Theawagsnwnberof

Expialmwlwﬁmewasan hmeh‘ﬁseavemgenumbercfbubbies
formed per minute. 2]

Score




38. The diagram below shows a metallic ball, X, hung uging a sbing from a support.

&—‘---A: .
(f
’/
’I

Balt X

A |
\ B
When Ball X Is released at point A, it swings downwards fo point B. Then it
continues tc mave upwards to point C.

(a) Using the axes given below, draw the lina graph to show the change In thé
amourt of gravittitivnal potentitl energy of Ball X as i moves from polnt A
1o point C. 11

Potential enevgy

A

¥ | ——» Points
’ A B c

as




by kumhaubeamemgobaekmmsamehe:gmat polntAaftartheﬂr]st
tound of ewing? : , (

{(¢) Fillin theb!ankstoshowtha energy changes hvolmdﬁdwnme ball moves
from point A fo point C. M

of balt at pojft A of bafl at polnt 8 of ball at poird C

Score




38. Roy.set up an experiment as shown:below. He pufled the load up a plank using
a spfing balance. He repedied the experiment for different values of angle x.

spring

balancs

The results of his experiments are shown in the table below.

Angle x () Force used to pull load up (N} .
20 85
30 107
40 ' ?
- 50 150

(a) What Is the amount of fotce needed to move tha load up the ramp at an
angle of 40°? 1]

{b) Explain how the resuhs will be affected if a smoother surface is -used on
the ramg. : i

Score

37



: shows magnet B at rest above magnet C after magnet A is removed.

wooder rod

(a) What caused magnet B to be at rest between magnet A and magnet C as
shown in Diagram1? - {11

(b) When Magnet B in Diagram 2 Is pushed downwards and released, it wil
move up and down a few times before coming to rest again. Explain why
magnst B moves up and down. {1

... {c) Based on the diagrams, compare the strength of magnet A and magnst C.
- - ' ‘ M

. Score




41. Julian put a pieca ofice.in a.cup made of material X and left it In a classroom.

cup made of matarial X

'The temperature of the melting ice was recarded for some time sven aftor all
the ice has melted. The resulis are ploftad in the graph below.

Tempetature / °C
F 3

ey T T R T

0 —% Time fmin
10 20 30

{2) How long did the lce take to melt-complstely? Explain your answer. 11

(b) At which par{s), A, B, or C, of tha graph does the ice orfand water galf
- heat? i1

Score
39 -




catad it periment using ancthar cup made of matsiial ¥, He
~=anldenﬁcal pleoeof!eetook 10 minutes longer to melt

m@m;«v,mmdmmmmamhammm
the fied rice he brings to school will atill be wanm during his recess break?
Explaln your choice. , (2]




42. On a sunny.day; Faith inverted two identical glass Jare, Sand T, overacupand
a bowl respectively on:some wet sand as shown.

inverwdgiass A

Water was collected in the small cup and big bowl after some time.
{a) BExplain how the water was collacted. 2]

(b) Explain why fess water was colloctad in the bowl than In the cup. (11

Score

8 -



43. Guangming set up a clrouit as shown. All the bulbs in the circuit lit up.

re @

{a) What Is the smallest possible number of bubs that would remain Iit when
cna of the bulbs in the circuit Is blown? Explaln your ahswer. [1

(b) Mark on the circuit with an ‘X' where you can place a swifch to control both
bulbs B4 and BS atﬂ:e‘;ime ) {11
same

Score .

2



44. Siti conducted an experiment using the set-up below.

5 ‘\\ |
TTTA T heightof
> —Y..  swing
| metal ball
starting point A ' table top

Siti strefched the rubber band with the marble to the starting point A before
releasing the marble to hit the metal ball. The metal ball then swung to the
height shown in the diagram above.

Sitl repeated the sxperiment using another type of surface for the table top.
She recorded the results in the table below.

Height of swing with | Helght of swing with
rough surface {cm) smooth surface (cm)
1™ 1" reading 3 5
2™ reading g 5 ) 6
¥ reading__ 4 6

(a) Based on the results in the table,- what can you conclude about the
rolationship between the type of surface of the table top and the helght of

the swing. - {1
(b) Explain your answer for part (a). {1
(¢} Why must Siti conduct the experiment at least 3 fimes? {7l
End of Bookiet B .
Score
| ' 3
43




Answer

| IV 4

EXAM PAPER 2015
SCHOOL : TAO NAN

SUBJECT : P6 SCIENCE

TERM : SA1
Q1 Q2 Qa3 Q4 Qs Q6 Q7 Qs Q9 Q10
1 4 3 1 2 1 2 4 1 3
Q11 Q12 Q13 Q14 Qis .| Qi6 | Q17 Q18 Q19 | Q2o
3 2 3 4 1 4 2 2 1 3
Q21 Q22 Q23 Q24 Q25 Q26 Q27 Q28 Q29 Q30
3 3 3 3 4 3 2 4 3 1

31)a)No. There was not an equal amount of water in each tanks and
there was difference in the number of tadpoles.

b)A plant that can photosynthesise.
32)a)i)Wind ii)Animal

b)The wing-like structure of A can help it stay in air for a forg
period of time and the hooks on B can be hooked onto the animal’s
legs. |
33)a)Bat and squirrel.

b)Without pollination, the tree will not produce fruits and the
animals feed only on the fruits of the plant.



Answer Key


38)a)’ ’4\

b)No. When the ball was moving from A to B some of the kinetic
energy was converted to heat and sound energy. So there is less -
kinetic energy to convert to gravitational potential energy.

c)Gravitational potential energy—> Kinetic energy—> Gravitational
potential energy

39)a)130

b)Force used to pull load up is less and less frictional force
between the surface of load and plank.

40)a)B is repelling A and C.

b)Gravity pulls down while magnetic repulsuon betweenand B
cause B to move up.

41)a)10mins. The temperature did not increase for the first 10mins as
it is melt after that, the temperature increased.

b)B.



41)c)Y. it took a longer time to melt a ice as heat flowing through it is

- slower than X, meaning that it was poorer conductor of heat. Hence,

“when Julian brings the fried rice in the box of material y, it will stay
warmer for a longer time than that of X.

Heat is conducted through Material Y at a slower rate so the food
loses heat slower.

42)a)Water from the wet sand evaporated into water vapour which
condensed on the cooler surface of the glass jar into water droplets
which fall into cup and bowl.

b)There was smaller exposed surface area of the wet sand, thus
the rate of evaporation of water was slower.

43)a)2. When B1 blows electrical can only flow through B4 & B5 as it
is a closed circuit.

44)a)The fougher the surface of the table top the lower the fleight of
the swing.

b)On a rougher surface, there is more friction between the table
top and marble, so more force was used to overcome friction, causing
it to swing lower. '

c)To ensure the results are reliable.



34)a)i)P, K i, 0, L iii)N iv)M

b) _
L
S

/X M

BNr

35)a)To attract female fiddler crabs.

b)The larger the size of the pincer, the better and easier the crab
can dig a deeper hole for it to escape its predator.

c)The eyes can stick out from the burrow to enable the crab to see

the complete view of its surrounding without exposing/moving its
body.

36)a)Stomach:C  Smallintestine: A
b)To absorbs the digested food from the small.
c)increase the rate of absorbtion of digested food.

37)a)The nearer the distance between the water plant and the lamp,
the more the number of bubbles formed.

b)The lamp was nearer to the water plant, hence the plant
receives more light and the rate of photosynthesis increase, hence
' more oxygen is produced with an increase in bubbles.






